H B - R 2017/10/7 | ENIOIEPS
et SRR 294 EE TR T R A IR B Kb BB RS
rXs 2 2 P TR AR A R R FLER AT e =
TR R4 B HT BTG wS Ra2 44 FTHE H e LB S
H f+ A R 2L 3L YA 5L 6L [LA 8fir
. R THE EF@ 17.15 F0.2)|EH £H#i(4) 1717 FO.D|ERE EAE®@) 17.27 (+0.1)|iE0 E#2(4) 17.30 (+0.1)|78 EK(@4) 17.83 (+0.1)|i®H 234 17.90 (+0.1)|3EH EZEE®@4) 17.92 (+0.2)|;BE EAREQ) 18.14 (+0.2)
INFAFELLR S| 10ATH | 100m . X ) R . . . X
LIEf=TFC LIEfTFC LIEfTFC LIEf=TFC LIEf=TFC LIEfTFC LIEf=TFC LIEfTFC
w078 | 1500m FAIER 2LE&(3) 5:58.50| &+ /& 1£3H(3) 6:06.94(FTP1 &iLM3) 6:00.01|FE E#(Q) 6:49.00|BE =t(2) 21616
LIEF=TFC LIEF=TFC LIEf=TFC LIEF=TFC LIEf=TFC
won7a | s TH HM@4) 3.12 (0.0)|BaIER %LEE) 2.87 F1.D)[;EEH #AKREO) 264 (-1.1)[{EA EE@4) 259 (F0.D|EH EHi4) 253 HO.N|ER 1&2@) 2.52 (-0.2)[FrA &IiLN3) 2.50 (-1.0)[F EK4) 248 (-0.1)
LIEF=TFC LIEf=TFC LIEf=TFC LIEf=TFC LIEf=TFC LIEf=TFC LIEF=TFC LIEI=TFC
5657 | 109768 | 100m &N $E6) 13.22 (-1.8)| & JII HiZ6) 14.76 (-1.8)| B =3H(6) 15.09 (-1.8)|#1fE £ (5) 15.33 (-0.7)| B #E BKER() 15.76 (-0.7)|Hh B EK(6) 16.15 (-1.8)|1&EE =K(5) 16.27 (-0.7)|&H E{E(5) 16.40 (-0.7)
LIEF=TFC GR|LI£F=TFC LIEf=TFC LIEf=TFC LIEf=TFC LIEf=TFC LIEF=TFC LIEI=TFC
10878 | 1500m i STEG6) 5:21.75(FAIER  EREK(6) 5:32.67|2 EK(6) 5:49.24|E#f {h(5) 6:11.13[1& 5 Fl =EiK(5) 6:46.97
LIEf-TFC LIEF=TFC LIEf=TFC LIE7=TFC LIELf=TFC
on7a | s 1&53‘*” E=NG)) 0.85
LIXf-TFC
W0ATE | KA #E6) 453 (-0.6)|BJIl EHR®6) 419 (-0.4)|%B#E F:3H6) 3.62 (+0.3)|FATER  EABk(6) 3.59 (0.0)|2 &XKX(®) 3.59 (+0.1)|&Hh S=H#H(6) 3.54 (-0.5)|H#E B AKER(5) 3.46 (-0.9)|#f[E Zm(5) 3.22 (-1.3)
LIEF=TFC GR[LIE/=TFC LIEf=TFC LIE7=TFC LIE7=TFC LIEf=TFC LIEf=TFC LIE7=TFC
HE k1) 12.47 (-0.6)| & BEE(1) 13.18 (-0.6)[ER AR [BI=(1)  13.47 (-05)|{EAR EA2(1) 13.48 (-0.5) ¥HE BWEW) 13.51 (-0.3)|&MER EF()  13.52 (-0.5)|ARER #AZE(1) 13.86 (-0.6)
wesen s | 10n70 | 100m HHEM- AN G HHEE-F—h FHEE-AAF HHEME-MEN G HEE- AN T FHEA-F—F HHEE-MAN G
RE SO 13.48 (-0.5)
HEM- BN
w0a78 | 1500m BE wW20) 456.31|17HE wTR(1) 4:57.30|48H@ &A1) 5:19.42(& 3 JH(1) 5:21.71| T K1) 5:21.91[1LEF BREE(1) 5:23.36|1&EmE BIAR(1) 5:28.81|E8 HEQ) 6:04.60
FHEA-REBT FHEE- AL T M- AN FRA-LEFD FrFM - A g FHEEREH M- A g FHEE-EP
th2zo. 3B 7 [ 107H | 100m FE HXROQ 11.67 (-2.0)| 5% 5= (3) 11.71 (-2.0)| K#t #A@Q) 12.06 (-2.4)| 778 EH#HQ2) 12.38 (-2.0)|1E8E E(2) 12.48 (2.0)|EH TH(2) 12.67 (-2.0)|75 8 £(2) 12.68 (-1.3)|7kE& KM (2) 12.87 (-1.3)
FHERA-AAT FHEE-F—h W@ -MAN R FHRA-F—F M- ) g FHEEIREH FHRA-RET FHEE-F—h
0A78 | 1500m P $RERE) 4:19.06({&# Q) 4:3188|fka K FE&EQ) 4:34.15|#H EAQ) 4:35.00|tH &(2) 435528 EEQ) 4:4769|BE 1KIE(2) 5:00.90|fER SEA(2) 50155
FHME-RIEH GR|¥#H - Ix{EH B -EEFH FHE-IREH FHE-REH FrHME-EH FHEME- AT HrEE- AN R
Tk BN 23.56 (-0.9)|FRiFE EH#I(2) 2460 (-0.3)|{E#E E(2) 25.04 (-0.3)|7 M £(2) 25.91 (-0.3)|# @A Z(2) 26.20 (-0.9) KA K@) 26.29 (-0.3)[ KAl HWMEQ)  26.47(-0.9)
wessemn 7 | 10978 | 200m HHME-F—h HHEE-F—h HEE-MAEN G FHE-IREH HRE-AAF FHME-FE—h HHEBE-EP
it BETE(2) 26.20 (-0.3)
HHME-AAH
10878 | a00m |TH BAO 56.69|iT1E #R() 59.34{kE EH(Q2) 59.48| K&l AR 1:00.64[/NE E(2) 1:01.80[H 8 HWAQ) 1:03.27|F8 #AQ) 1:04.35
HHEM- AN G FHRE- KA FHEE-AAF FHEE-Eh HHEM- AN G HHEE-F—h FHEA-F—F
woa7a | s0om I $RIREQ) 2:05.03(#35H HEAQ) 21474tk 2K FEQ) 2:20.58| &AM #iFHQ2) 2:33.30|F#% B2 2:37.68|1LEF BREE(1) 2:44.27
HHMA-RED GR|#HH-IRIEH FHREA-LEFF HHEA-F—F HHEA-F—F HHM-RER
W0A7a | 3000m e EQ) 9:38.83|#H &3H(2) 10:02.87|#&#E Q) 10:15.24|HiB E(@3) 10:36.79|iE s EEE(2) 10:40.94|8EE #S(1) 10:45.07| Mg BEZE(2) 10:55.06|fE A 1H(2) 10:56.64
FHEA-RET FHEE - IREH FHEB - REBT FHEE R FHEE R FHEE - REH FHEE R HHEMA-ELARF
M- AN G 48.23|FHFEH - IRIEHA 49.46|FTFH - RIGH 49.48|FFH - KL 49.49| T %M - M0A ) B 49.58|#FH - R 49.78|FTHH-F—HA 49.96|¥THH - £—hB 51.83
FEH 8@ N BRE®Q) ik EQ2 kB B2 INEE FRE®Q) EAME #i2) 3 K@) #iE B2
10A7H | 4x100mR |#8 5 k(1) BrlF #RARE) AH EHO) IN A (2) RE S &N #BEQ &R #254(2) E5H KEOQ
NG #EQ2) B Q) EE MEQ HE %EQ2) aBH E—EQ2) - SNV FiE ERIQ2) Mg #WAQ@)
&%k EQ) ik BEQ) KB FENQ) hiE B2 AH #EAQR) B #RER2) KA K@) Ek BN
H& #@3) 177/ #8E&(Q2) 1.60(F #(2) 1.55 NE R&02) 1.50 &R #3R(2) 150[/h 8 &E(Q2) 1.45
on7a | ek FHEA-RET GR[#% M- At @ -MAN R FHEE R FHERA-F—F EE- AN G
ER #E0) 1.55 Beff FEEA2) 1.50
#HEME- R HHEME-AAT
o078 | ik hiE B2 5.19 (-0.1)[ &M #2EB(2) 5.08 (0.0)|3x A #HRk(2) 498 (0.0)[#ED #HFH2) 491 (-0.2)|HH KEQ) 481 (-0.HMEARE #(2) 479 (-0.0)|HE HAKQ) 471 (-0.9)| ¥ JBE() 4.68 (-0.8)
HFEB-KAF FHEBE-EP FHEE - RIEH FHREEL ARG FHERA-F—F HHEE-EP FHERA-F—F FEE- AN G
w078 | r IR #ERQ) 12.74lL0 Hth(2) 899|EH ME—ERQ2) 8.67| & BEIR2) 7.85[85 K HFI(2) 7.65|% 8 #HAH2) 7.23| B8 EHQ) 7.02[iF%E FKQ2) 6.50
FRE-LEFP GR[#HHE-£< K HEE- AN G A - AN M- A #HEME-ELKF FHEA-EL RSP HHEHE-EP
0ATH | M 1R #ERQ) 47.19| & BEETRQ) 29.05(1ILO  Hh(2) 26.59|#K HFI(2) 243258k 1A2) 20.61|E1E EHQ2) 18.78| K& #(2) 18.23|E%H % &F(Q) 17.58
FHRE-LEFP GR[#r % mE- ARG #FHEME-ERKH HHEM- AN G HEE- R #FHEME-ELKF FHEME-Eh FHRE - RET




HH -l 2017/10/7 FHR ESEINEPS
R SERR294E BT T AR A IR B Kb BB ks
Y4 FTHE T I AR AR RE BT RLER AT e =
FHEA FFEHET FRETRE S Raz 44 FIFE e LB
H f+ A R 20 3fL 4z 5L 6fr ThE 8fir
st 070 | 100m KFEE B#@Q) 11.21 (-1.9)|EZE =T 11.58 (-1.9)|i&HE 182 11.72 (1.9|[R B3} ©2) 11.74 1.\ HFHF =% 11.75 C1.2|\H #$©2) 11.81 (-1.2)| == RE(1) 11.85 (-1.9)|E&JIl B(1) 11.98 (-1.2)
#FHEH FEEE FHEEE FREE AAHOB FHEE®E FHEMEFE FiEHEE
wa7a | 100m FZE EFQ) 51.05(FH #(2) 54.87|h0@E *LK(1) 55.83[=HE LHE(2) 55.96| =& EA) 56.81|F+1E Kih(2) 57.39|R& I #B(1) 57.59[;&2 #W&Q) 58.32
FHRERE FHEEE FHE FHREE FREE FHRADR FRERE #FrHHE
w0a78 | 1500m = W) 4:37.60[E2 #A0) 437.721lu0 BEM) 4:38.09|F0A fEZ(1) 4:48.90|1kBE EKX(O) 5:03.55
FHREE FRER FHHE FREE FHMA
0a78 | 5000m EHE Q) 15:53.77|#1#% KHI(QR) 15:56.56| A+ & B 16:45.57|F 1L 3% 17:18.00| %24 B8 17:25.79|/Mig 22 18:50.32|1k# EKX() 19:25.19
FiRERELX #HMEE 5 H B #K ¥ HEBEEHK o7 M B &K KFEEZE |
FFEERA 43.85|# FEHB 45.32| & #.50B 50.71
FIE #(2) R OBREW ZR 5
10A7H | 4x100mR |i=fE RH#E(2) ZREE RED WE FE
R &332 &N B B @/
FE EFQ B/ BEAM) MR BA
W0ATH | = BEQ 1.77| 0k #LK) 1.71|E#E Kih(2) 1.68
FHREE #iHH FHREAPR
a8 | s B #E0) 6.06 (-0.7)[ZER BEN(1) 527 (-0.2)
FREE FiHH
op7a | oo £ BR 51.49|KfE = 50.92|HE Eat(2) 4554|788 BN() 44.93|1EEH EXK 39.76|tH &K 34.83|REE T2 32.80| &1 ZEFR(1) 31.58
% 0 B &k R EHED FHEE FFEH HHEEHEM R EHD FHMEFE FEEE
P of78 | s ¥H £F@Q) 8.07|&iZE HEIB() 7.03
FRERE FEEE
wATE| e B REW 2582|178 F#E(1) 23.66
FHRERE FHEEE
R wATE | R KA = 9.69(fH X 9.54|7EE EKX 8.10
HHEEE FTREE FEEE
s | 10870 | 100m i%fn‘a*js (0] 15.50 (-0.9) ‘.%ﬁ FIH(4) 16.47 (-0.9) /J\w,.j% =& 16.95 (-0.9) E?Jll ThE(3) 17.07 (-0.9) ﬁﬁj HAD3) 18.08 (-0.9) z!:Faj XE(3) 18.26 (-0.9)| Bk BLR®3) 18.86 (-0.9)
LIEf=TFC GR|LIE7=TFC LIEt=TFC LIEt=TFC LIEt=TFC LIEt=TFC LIEf=TFC
0ATH | iE ik EQ 3.21 (-0.4)|=#E FIR@) 2.75 (-0.D|/NE EF®A) 2.54 (0.0)| K XE®) 2.42 (-0.3)|FEE HADQA) 238 (-0.H)|RBNI THE®) 229 (+0.0)|B#E BREO) 2.24 (0.0)
LIEf=TFC GR|LIX7=TFC LIEf=TFC LIE7=TFC LIE7=TFC LIEf=TFC LIEf=TFC
essetet | 10876 | 100m Wk TR 14.85 (-1.5)| 2% B=(®6) 14.87 (-1.5)|i%E XH(6) 15.55 (-1.5)| %k EHXK(G) 16.10 (-1.5)| K41 EE(6) 16.18 (-1.5)|i% & UV1=(6) 16.34 (-1.5)|FIER  #%(6) 16.60 (-1.5)|/N#k  HK(5) 19.30 (-1.5)
LIEf=TFC LIEfTFC LIEfTFC LIEf=TFC LIEf=TFC LIEfTFC LIEf=TFC LIEf=TFC
wf7a | so0om Tl &G 2:43.06|FH F5(6) 2:48.91|{EBE K3L6) 2:50.45| 14 #E5H(6) 3:01.73| AR BE(6) 3:0482|HE #FE6) 311.77|EE F=6) 3:16.48
LIEF=TFC GR|LIX7=TFC LIEf=TFC LIE7=TFC LIE7=TFC LIEf=TFC LIEF=TFC
W0ATH| Emk Wk T3e6) 1.26[%%& XE®6) 1.20|AM [BE®6) 1.15(FER #D4(6) 1.15[F L #&30e6) 1.15|F# EKG) 1.00[/h 4k #K(5) 0.90
LIEF=TFC GR|LIX7=TFC LIEf=TFC LIEF=TFC LIEF=TFC LIEf=TFC LIEF=TFC
WATH | i E%H BX®6) 3.75 (-0.1)|{E#%E & 3B4(6) 3.45 (0.0)|%& Ut=(6) 3.29 (0.0 #EHA(6) 3.23 (1.2)| KM EE6) 3.02 (-0.9)| B F(6) 253 (-0.2)| AR #F(5) 2.33 (-0.4)|EHE F1ZEG5) 2.05 (-0.6)
LIEF=TFC LIEf=TFC LIEf=TFC LIEf=TFC LIEf=TFC LIEf=TFC LIEF=TFC LIEI=TFC
wesese s | 10878 | 100m a5 Em) 13.95 (-1.0)|{&ERE RE() 1418 C1.O)|R&NI FT5(1) 1419 CO.D|FEFH (DR 14.25 C1.D|MANM K&H1) 1456 (-1.0)|iF E#E®) 14.74 (-1.0)|F1L BAFH1) 14.82 (-1.0)|AR £ZE1) 14.97 (-1.1)
FHRA-RET FEE-AALH FHEE-AAH FHERA- AP #FHEME-®H FHEMB-F— FHRA-RET A -£EFH
10A78 | 80om IR IERZ() 2:41.94|% 8 B%EQ) 2:50.53
FHRA-RET FEME-EL2 KRG
wesosteser | 10878 | 100m kB HEQ) 13.55 (-1.1)| KB #B1E©@) 1391 CF1.D[BK BEHRQ) 14.09 C1.D|4EQ FEF/EQ) 14.25 (-2.D)|# Ul 12D(F(2) 1438 C1.D)| TH =ZEQ) 14.39 (-1.D)|%& 8 HEQ) 1445 (-2.0)| K& ZFEZ(Q) 1451 (-1.1)
HFHEEL ARG FHEME-RED HEE-MAEN G FHEEL AT FHME-RED FrHME-Eh FHREEL ARG M- AN G
0a78 | soom TR 2@ 2:38.64|thE #%(2) 2:43.00|EF EXK(2) 2:43.45|1&/% EE(2) 2:50.56|[F EF(2) 252978 F030) 2:54.74
FRA-LEFP HHEE-IRET #HEME-ERKH FHME-IREBH FHEME-REH HHEE- AN T




U NERYES] 2017/10/7 FHR ENTIEPS
R SERR294E BT T AR A IR B Kb BB ks
Y4 FTHE T I AR AR RE BT RLER AT e =
FHEA FFEHET FRETRE S Raz 44 FIFE e LB
H f+ A R 20 3fL Mz 5L 6fr ThE 8L
esseimie s | 10978 | 200m ik BB 27.94 (0.0)| KB BIEQ) 28.94 (0.0)|1E#E *RE() 29.05 (0.0)|EAX BEQ) 2913 (0.7)|RANI FEMH() 29.40 (-1.2)| B4 £m0) 2955 (-0.7)|%E#E Zm=(2) 3013 (-1.2)|KiE FEZE(Q)  3053(-1.2)
FHEM-EL2 K GR|# R H-IRIEH FHEE-AAH FEM- AN FREA-AAF M- RIET FHEA-RIET FFEE- AN G
w0a78 | 1500m "R 22 5:14.60| &R HE0) 5:32.72| K& HA&AQ2) 5:35.10|85 K #74(2) 5:37.18| AiE FEXR(2) 5:37.20[ith E #i(2) 5:39.95|/\ ik BEZZ(1) 5:39.99|% M BR&A(1) 5:47.19
FHRA-LEFD FHEE - IREH FHRA-LEFF FRA-RET FHEMA-EL K FHEE - REH FHEA-REBT s e N
HFEE ERKRPA 54.19 | FEH - AALF 55.47|# 5 H - R 56.61| ¥ FE - iAo 57.23|Hi R HE -EEFF 57.34|# 5 H - E—hA 58.00|#T S H 88— B 1:02.27
%k %EQ &N #10) Eig 1501 hniE BIEE(2) &Nl BFQ AH BT XE ()
10HT7H [ 4x100mR | {5 #&(3) FoH ODEE() B L3O BR BEQ2 TR 22 i OEE1) BH HHEA)
MO E&HQ) E&Il £2X©) X RA&E(1) EE F0502) AE E=EQ) INER S TH(1) MR EEEQ)
1k BEO) &% RE0) AH #HEQ2) Kig FEZ0Q) WILREESS) BE &) Bl #BR1)
HH YAQ) 1.40(RE Zi0M(2) 140|148 BRFI(2) 1.35|E%E &2 1.30{&EM BHE®) 1.25|AM H(2) 1.25|KE #EQ2) 1.25
on7e | ek FHEA-RET FHEEIREH FHEA - RBT FRA-RET FHEMA-EL K FHEE REH FHEE R
XE EH) 1.25
FHERA-F—F
W0ATH | iE B LK 427 (+0.1)| AR EFEW) 3.97 (0.0)/M ek FTh(1) 3.87 (-O.D)[MAX &A1) 3.80 (+0.3)|K;& BHE() 379 (+0.N)|ith A E&KE(D) 377 (0.0)|FHE YAQ) 3.70 (+0.1)[FEMA FH(1) 3.68 (0.0)
HHEE- R B - SEFH FHRE-F—F FHEE R FHEA-EL RSP M IRIETH FHEA-RET HHEE-AALH
0H7H | F RiE ti|@) 8.59|HEIR HA(2) 8.09|FZFE M) 8.00[E&II #E®2 789[= L2 740|BH %TFQ2) 7.30|1FL DDH() 6.88|[RH EiM2) 6.83
FFEE-KAF HHEE-F—h M- ERKH FHEE R HEE- R HHEE-F—h FHEE- R FHEE-IREH
on7e | maee A FTFQ@) 16.58||ZF IME(1) 1615|548 15(1) 14.27|#%F FKRIEQ) 13.70|FL DD M) 13471E FEHEW) 13.32|4E &FMHQ2) 12.38(i&#& FmQ) 12.29
FHEE- R #FFEME-ELKF #HEE- RS FHEME-ELKRH HHEE- R #FFEME-ELKF FHEE- R FHEE-EP
ket | 10878 | 100m BEE Xt 13.25 (-0.8)[f&A =A(2) 13.58 (2. D)[#F R B(1) 14.20 (0.8)[/h i BN 14.24 (-0.8)|HAR #HE(Q2) 1429 (27| HEEFQ) 14.53 (-2.7)( Ll FA3=(1) 1483 (-2.D[KE HEW 14.84 (-0.8)
FHEMETFC HFHEE i FHRER FHEEFE #FHHE FHEEE FEHEE
w0a78 | 100m MR BHEQ) 1:03.90[480 Z=3B(2) 1:05.82
FHRA-LEFD FHEEE
W0A7a | 800m fE FEd) 2:42.77
FREE
0a78 | 3000m B EX@Q) 11:14.87|F8B BEH1) 11:33.35
HRERE #FHE
103 7H | 4x100mR
on7n | s B BT 1.46[i&i& RAN2) 1.35
S M
a8 | s BER BHEQ 4.85 (-0.2)|iEE E#©2) 4.83 (+0.4)|B&ER #5(1) 4.60 (-1.5)|FFE H1) 432 +0.D|AEB HEW 413 (0.0)| 1Ly H/ZEQ) 3.73 (+0.1)
HFEE =GR[#TF MM FREPR g ¥ HHEmE FHEEE
AT | M R EE 29.56(RH+ HBE(1) 2153
FEATHIER FHEHEE
oi7e | o PEE = 33.18|R&ER BH(1) 21.82|{&# 2Z=01) 20.43
FHEMETFC GR[HTFH B R FEEE

#NAME?




